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: 

:  
(i) 15 

(ii)  

(iii) 1 7 

2 
(iv) 8 13 

3 
(v) 14 15 4 

(vi) 

IÊS> H$ 

1. (H$) ? ghg§̀ moOr `m¡{JH$m| Ho$ Xmo JwUY_m] H$s gyMr 
~ZmBE & 2 

AWdm 
(I) H$m~©Z Am`{ZH$ Am~ÝY Zht ~Zm gH$Vm h¡ &  Bg H$WZ H$s nw{ï> 

H$s{OE &  2 

2. _mZ br{OE S>m°~oamBZa H$m H$moB© {ÌH$ VrZ VÎdm| A, B Am¡a C H$m ~Zm h¡ & CZ Xmo 
JwUm| H$s gyMr ~ZmBE Omo Amn BZ VrZm| VÎdm| _| nmE±Jo & 2 

3. (H$) ñÌrHo$ga {H$go H$hVo h¢ ? BgHo$ {H$Ýht 
H$s{OE & 2 

AWdm 
 (I) nw§Ho$ga {H$go H$hVo h¢ ? 

d{V©H$mJ« na nhþ±MVm h¡ ? 2 

4. ~«m`mo{\$b_  nm¡Yo _| H$m{`H$ àdY©Z hmoZo H$s à{H«$`m H$s g§jon _| ì`m»`m H$s{OE & 2 
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General Instructions : 
Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises 15 questions. All questions are 
compulsory. 

(ii) This question paper is divided into three sections  A, B and C. 

(iii) Section A  Questions No. 1 to 7 are short-answer type questions. 
Each question carries 2 marks.  

(iv) Section B  Questions No. 8 to 13 are also short-answer type 
questions. Each question carries 3 marks.  

(v) Section C  Questions No. 14 and 15 are case-based questions. 
Each question carries 4 marks.  

(vi) Internal choices have been provided in some questions. Only one of 
the alternatives has to be attempted. 

SECTION A 

1. (a) What are Covalent Compounds ? List two properties of 
covalent compounds.   2 

OR 
(b)  2 

2. 
List two properties which you would find in these three 
elements.  2 

3. (a) What is Pistil (Carpel) ? State the main function of any 
two of its parts.  2 

OR 
(b) What is Stamen ? State what happens when a pollen 

lands on a suitable stigma.  2 

4. Explain briefly how vegetative propagation takes place in a 
 2 
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5. Xmo IoVm| X Am¡a Y _| _Q>a Ho$ nm¡Yo CJmE JE & IoV X _| g\o$X \y$bm| dmbo _Q>a 
Ho$ nm¡Yo CJo, O~{H$ IoV Y _| Zrbo \y$bm| dmbo _Q>a Ho$ nm¡Yo CJo & XmoZm| IoVm| H$s 
CÎmadVu g§V{V`m|  _| `h àojU {H$`m J`m {H$ IoV X H$s g§V{V Ho$ nm¡Yo 
Ho$db AnZo n¡V¥H$m| Ho$ bjU hr Xem©Vo h¢, O~{H$ IoV Y H$s g§V{V Ho$ A{YH$m§e 

H$s{OE & 2 

6. (H$) Mwå~H$s` joÌ {H$go H$hVo h¢ ? {H$gr ñWmZ na Mwå~H$s` joÌ H$s {Xem 
{H$g àH$ma {ZYm©[aV H$s OmVr h¡ ?  2 

AWdm 
(I) {H$gr Ymamdmhr grYo MmbH$ Ho$ Ûmam CËnÞ Mwå~H$s` joÌ aoImAm| H$m n¡Q>Z© 

H¡$gm hmoVm h¡ ? Bg àH$aU _| Mwå~H$s` joÌ H$s {Xem {ZYm©[aV H$aZo dmbm 
{Z`_ {b{IE & 2 

7. (H$) ? {H$gr nm[aV§Ì _| An_mO©H$m| H$s Xmo 
_hÎdnyU© ŷ{_H$mAm| H$s gyMr ~ZmBE & 2 

AWdm 
(I) àË òH$ H$m EH$-EH$ CXmhaU XoH$a O¡d{ZåZrH$aUr` Am¡a AO¡d{ZåZrH$aUr` 

nXmWm] Ho$ ~rM {d ôXZ H$s{OE & 2 

IÊS> I 

8. (H$) (i) g_OmVr` loUr {H$go H$hVo h¢ ? àH$m`m©Ë_H$ g_yh  OH Ho$ 
`m¡{JH$m| H$s g_OmVr` loUr H$m gm_mÝ` gyÌ {b{IE VWm Bg loUr 
Ho$ Vrgao gXñ` H$m AmpÊdH$ gyÌ Xr{OE & 

(ii) EWoZ H$s g§aMZm It{ME Am¡a BgHo$ AUw _| CnpñWV EH$b 
Am~ÝYm| H$s g§»`m {b{IE & 3 

AWdm 
(I) (i) ? ã`yQ>oZ (C4H10) Ho$ Xmo 

g_md`dm| H$s g§aMZmE± It{ME & 

 (ii) (i) , Am¡a (ii) ~oÝµOrZ Ho$ AmpÊdH$ gyÌ {b{IE & 3 
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5. Pea plants were grown in two fields, X and Y. While field X 
produced pea plants with white flowers, field Y produced pea 
plants with blue flowers. In subsequent generations, it was 
observed that in the field X, the offsprings exhibited only the 
parental characters whereas in the field Y, majority of the 
offsprings exhibited variation in characters. State the possible 
reasons for these observations.   2 

6. (a) What is a magnetic field ? How is the direction of a 
magnetic field at a place determined ?   2 

OR 
(b) What is the pattern of the magnetic field lines produced 

by a current carrying straight conductor ? State the rule 
that determines the direction of the magnetic field in this 
case.  2 

7. (a) What are Decomposers ? List two important roles of 
decomposers in an ecosystem.  2 

OR 
(b) Distinguish between Biodegradable and  

Non-biodegradable substances giving one example for 
each.  2 

SECTION B 

8. (a) (i) What is a Homologous Series ? Write the general 
formula of the homologous series for the compounds 
having functional group  OH and give the molecular 
formula for the third member of this series.  

(ii) Draw the structure of ethane and write the number 
of single bonds present in its molecule.  3 

OR 
(b) (i) What are Structural Isomers ? Draw the structures 

of two isomers of butane (C4H10).  
(ii) Write the molecular formula of (i) cyclohexane, and  

(ii) benzene.   3 
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9. (H$) AmYw{ZH$ AmdV© {Z`_ {b{IE & 
(I) AmYw{ZH$ AmdV© gmaUr _| Hw$b {H$VZo D$Üdm©Ya ñVå^ h¢ ? 

h¢ ? 
(J) {H$gr AmdV© _| ~mBª Amoa go XmBª Amoa OmZo na VÎdm| H$m YmpËdH$ bjU 

{H$g àH$ma n[ad{V©V hmoVm h¡ ? 3 

10. (H$) _mZd Za Am¡a _mZd _mXm _| qbJ JwUgyÌm| g{hV CnpñWV Hw$b JwUgyÌm| 
H$s g§»`m {b{IE & ì`m»`m H$s{OE {H$ b¢{JH$ OZZ H$aZo dmbo Ordm| H$s 
g§V{V _| JwUgyÌm| H$s g§»`m {H$g àH$ma OZH$m| _| JwUgyÌm| H$s g§»`m Ho$ 
g_mZ ~Zr ahVr h¡ & 3 

AWdm 
 (I) _mZd _mXm OZZ V§Ì Ho$ {ZåZ{b{IV A§Jm| Ho$ H$m ©̀ {b{IE : 3 

 (i) AÊS>me` 
 (ii) \¡$bmo{n`Z Zbr  
 (iii) J^m©e` 

11. (H$) (i) n[aZm{bH$m {H$go H$hVo h¢ ? {H$gr Ymamdmhr n[aZm{bH$m Ho$ {gam| Ho$ 
{ZH$Q> ? 

(ii) {H$gr Ymamdmhr n[aZm{bH$m H$m Cn`moJ H$aHo$ {dÚwV²-Mwå~H$ {H$g 
àH$ma ~Zm`m OmVm h¡ ? 3 

AWdm 
(I) (i) âboq_J H$m dm_hñV {Z`_ {b{IE & 
 (ii) {H$gr {dÚwV² _moQ>a H$m H$m ©̀H$mar {gÕmÝV {b{IE & 

(iii) {H$gr {dÚwV² _moQ>a Ho$ (i) ~«wem|, Am¡a (ii) {d^º$ db` H$m H$m ©̀ 
{b{IE & 3 

12. {ZåZ{b{IV H$m H$maU Xr{OE :  3 
(H$) {dÚwV² b¡ånm| Ho$ VÝVwAm ½ñQ>oZ H$m hr Cn`moJ 

{H$`m OmVm h¡ & 
(I) {dÚwV² VmnZ ẁ{º$`m| Ho$ VmnZ Ad`dm| Ho$ {Z_m©U _| ewÕ YmVwAm| Ho$ ñWmZ 

na {_lmVwAm| H$m Cn`moJ {H$`m OmVm h¡ &  
(J) Kaoby {dÚwV² n[anWm| _| loUrH«$_ g§`moOZ H$m Cn`moJ Zht {H$`m OmVm h¡ & 
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9. (a) State the Modern Periodic Law.  
(b) How many vertical columns are there in the Modern 

Periodic Table ? What are they called ? 
(c) How does the metallic character of elements vary on 

moving from left to right in a period ? 3 

10. (a) Write the total number of chromosomes along with the 
sex chromosomes that are present in a human male and 
a human female. Explain how, in sexually reproducing 
organisms, the number of chromosomes in the progeny 
remains the same as that of the parent.  3 

OR 
(b) Write the functions of the following parts of the human 

female reproductive system : 3 
 (i) Ovary 
 (ii) Fallopian tube  
 (iii) Uterus  

11. (a) (i) What is a Solenoid ? What does the divergence of 
magnetic field lines near the ends of a current 
carrying solenoid indicate ? 

(ii) How is an electromagnet made using a current 
carrying solenoid ?  3 

OR 
(b) (i) State Fleming s left hand rule.  
 (ii) Write the principle of working of an electric motor.  
 (iii) Write the function of (i) brushes, and (ii) split ring 

in an electric motor.   3 

12. Give reason for the following :  3 
(a) Tungsten is used exclusively for the filaments of electric 

lamps.  
(b) Heating elements of electric heating devices are made of 

alloys rather than a pure metal.  
(c) Series arrangement is not used for domestic electric 

circuits.  
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13. nmofr ñVa H$s n[a^mfm {b{IE & ZrMo {XE JE Ordm| H$s Amhma ûm§¥Ibm ~ZmBE : 
 gn©,  nm¡Yo,  ~mµO,  Myho  

 `{X àW_ nmofr ñVa na 1000 Oyb D$Om© Xÿgao nmofr ñVa Ho$ Ordm| H$mo 
ñWmZmÝV[aV H$aZo Ho$ {bE CnbãY h¡, Vmo Mm¡Wo nmofr ñVa Ho$ Ordm| H$mo {H$VZr 
D$Om© CnbãY hmoJr ? 3 

IÊS> J  

2 14 15
3 (a), (b) (c) (a) (b) (c)

 

14. _|S>b Zo _Q>a Ho$ nm¡Ym| Ho$ gmW àOZZ à`moJ {H$E & CÝhm|Zo bå~o _Q>a Ho$  
nm¡Ym| (TT) Am¡a ~m¡Zo _Q>a Ho$ nm¡Ym| (tt) Ho$ g§H$aU Ûmam àmá F1 m¡Ym| _| 
Ho$db bå~o _Q>a Ho$ nm¡Yo hr àmßV {H$E &  

(H$) D±$MmB© Ho$ A{V[aº$ _Q>a Ho$ nm¡Ym| _| ñWyb ê$n go {XImB© XoZo dmbo {H$Ýht 
AÝ` Xmo {dn`m©gr ({dH$ënr) bjUm| H$s gyMr ~ZmBE {OZH$m Cn`moJ 
_|S>b Zo AnZo à`moJm| _| {H$`m Wm & 

(I) àW_ g§V{V/ (F1) Ho$ nm¡Ym| _| Ho$db bå~o _Q>a Ho$ nm¡Yo hr àmßV hmoZo 
Ho$  

(J) (i) O~ F1 _Q>a Ho$ nm¡Ym| H$m ñdnamJU H$am`m J`m, Vmo F2 
1600 nm¡Yo àmßV hþE & F2 

(I) {H$VZo nm¡Yo bå~o, Am¡a (II) {H$VZo nm¡Yo ~m¡Zo Wo ? F2 
CËnÞ nm¡Ym| Ho$ OrZ (bjU) g§̀ moOZ Xr{OE &  

AWdm 
(ii) `{X H$moB© N>mÌ Bgr àH$ma Ho$ à`moJ H$mo {H$gr AÝ` Amd¥V~r{O`m| Ho$ 

gmW H$ao Am¡a Cgo Bgr àH$ma Ho$ n[aUm_ àmßV hm|, Vmo AnZo Bg 
h¡ ? `{X hm±, 

Vmo dh {ZîH$f© {b{IE & `{X Zht, Vmo AnZo CÎma H$s nw{ï> H$s{OE & 4 
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13. Define Trophic Level. Prepare a food chain comprising the 
following organisms :  

 Snakes,  Plants,  Hawks,  Rats  

 If 1000 joules of energy is available at the first trophic level for 
transfer to the organisms of the second trophic level, then how 
much energy will be made available to the organisms at the 
fourth trophic level ? 3 

SECTION C 
This section has 2 case-based questions (14 and 15). Each case is 
followed by 3 sub-questions (a), (b) and (c). Parts (a) and (b) are 
compulsory. However, an internal choice has been provided in  
Part (c).  

14. Mendel conducted breeding experiments with garden peas.  
He crossed tall pea plants (TT) with short pea plants (tt) and 
obtained only tall pea plants in F1 generation.   

(a) List any two visible contrasting characters taken by 
Mendel in pea plants apart from height, in his other 
experiments.  

(b) State the reason why only tall pea plants were obtained 
in the F1 generation.  

(c) (i) When F1 generation pea plants were self-pollinated 
a total of 1600 plants were produced. How many of 
these plants of F2 generation would be (I) tall 
plants, and (II) short plants ? Give the gene (trait) 
combination of plants produced in F2 generation.  

OR 

(ii) If a student performs the same experiment with 
other angiosperms and gets the similar results, 
then on the basis of his experiment, can he arrive at 
a conclusion ? If yes, write the conclusion. If not, 
give justification for your answer.  4 
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15. EH$ N>mÌ Zo {H$gr {dÚwV² n[anW H$s ê$naoIm ~Zm`r h¡ & Bg n[anW _| EH$ 6 V 

H$s ~¡Q>ar, EH$ Hw§$Or, EH$ Eo_rQ>a Am¡a EH$ 30  Ho$ à{VamoYH$ H$mo loUrH«$_ _| Xmo 
à{VamoYH$m|, {OZ_| àË òH$ à{VamoYH$ H$m à{VamoY 60  h¡, Ho$ nmíd© g§̀ moOZ go 

30  Ho$ à{VamoYH$ Ho$ {gam| go g§̀ mo{OV 
{H$`m J`m h¡ &  

(H$) Xmo à{VamoYH$m| Ho$ nmíd© g§̀ moOZ, {Og_| àË`oH$ H$m à{VamoY 60  h¡, H$m 
Vwë` à{VamoY kmV H$s{OE & 

(I) n[anW H$m Hw$b à{VamoY {ZYm©[aV H$s{OE &  

(J) (i) Hw§$Or H$mo ~ÝX H$aZo na Eo_rQ>a go àdm{hV hmoZo dmbr {dÚwV² Ymam 
H$m _mZ n[aH${bV H$s{OE & 

AWdm 

(ii) 30  Ho$ à{VamoYH$ Ho$ {gam| na {d^dmÝVa VWm Xmo à{VamoYH$m| 
Ho$ nmíd© g§̀ moOZ ({Og_| àË`oH$ H$m à{VamoY 60  h¡) Ho$ {gam| na 
{d^dmÝVa g_mZ hmoJm ? AnZo CÎma H$s nw{ï> H$s{OE & 4 
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15. A student has designed an electric circuit containing a  
6 V battery, a key, an ammeter, and a resistor of 30  in series 
with a parallel combination of two resistors of 60  each and a 
voltmeter across the 30  resistor.   

(a) Find the equivalent resistance of the parallel 
combination of two 60  resistors.  

(b) Determine the total resistance of the circuit.  

(c) (i) Calculate the current that will flow through the 
ammeter when the key is closed.   

OR 

(ii) Will the potential difference across the 30   
resistor be the same as that across the parallel 
combination of two 60  resistors ? Justify your 
answer. 4 

 

 

 

 


